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[2015. 1. 1. ~ 12, 31]
DRHA D EFA])
b L B R T g=T | () =EE) | MelZz
POSI e
H i 4,452,640¥ 1,130,000 | 3,322,640
1 . x| ZAF 90,000 | £+
> ok _— 2+ Ab 2 30,000 pIES
3 S >k <=} 20,000 &
4 Tk ko N 2k A 28,000 Bt
5 S— - 2 A 10,000 Bhed
6 S wxx | 2EAF 138,000 Bheq
7 F— Xk 2 At 138,000 Bt
8 - _— Chz 18,000 DIES
9 - x| e 18,000 | JI=
10 —_— *xk Cha= 218,000 gk
11 — wxk | 2EAF 30,460 IS
12 Xk kk * ke 2+ Al 55,800 Bted
13 — wxk | Cba 23,280 IS
14 — wxk | 2EAF 135,500 | M =X
15 S—_— ok Chz= 80,000 | A& EXI
16 *xx *xx 2FAF 65,980 gk
17 ok —_ Ch 10,000 IS
18 - >k Cas 29,170 DIES
19 xk wex | Chze 11,500 IS
20 - - 2+ A 15,000 IS
21 *xx * ko CHz= 22 10,500 N&
) —— - ZHAE =i= 5,040 s
o3 R x| B | =Zo 784,000 JI=
24 — —_— S | UE 39,600 IS
25 A KAk *kk Cha 800,000 | R ESON
26 . oxk Ch 15,000 pIES
27 P oxk Chas 30,000 Bt
28 kK ko *oHk Cha= 300,000 | R ESON
og — —-— Gtz 380,000 Bhed
30 *x% - Cas 28,000 | MIZZEX
31 - oxk Cha 282,000 Bked
30 P - Cas 90,110 | MIZEX




33 Kk Kokokk *k kKK *kk CHZ= A E2I] 9,000
34 Kk Kokkk Sk kKK *kk jSaji=l e HE 29,000
35 *kok ok kk *k ok * kK 2EAb IE Il 300,000
36 *kok ok kk Kok ok kK * kK 2EAb o x| 9,000
37 *hkkkkk *k kK *kk 2ZFAF =
o ALIISAE,

38 Kook koK Kk k Kok kk *xx 2HAF ~ 73,900

CIESee
39 | kxxKkkxx deokok kk *kk 2EAF == 12,500 =
40 *kkKkKK *k kK K kK 2HAb == 15,300 Bted
41 Kok Kk ok kk Kok ok kK * kK 2EAb nize]] 25,000 s
42 khkkkkkk *okk kK Kk 2EAL SI&E 30,000 B
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